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3.
A.
| Len | Comadr | Cmd | State | Datg] | LSB-CRC16 | MSB-CRC16 |
Len 1 5
25 Len 5+Data(] Len
Com_adr 1 0 254
255
Cmd 1 4
State 1 4
4 “« Q" 1S0/1EC 15693
13 F"
Datal] Len=5
CRC16 2 CRC-16
B.
| Len | Comadr | Staus | Data]] | LSB-CRCI6 | MSB-CRC16 |
Len 1 4 28 4
Len 4+Datd[]
Com_adr 1 0 254
Status 1
Datal] Len=4
CRC16 2 CRC-16
Com_adr 0x00
CRC Len CRC
CRC ISO/IEC 15693
0x05,0xFF,0x01,0x00,L SB-
CRC,MSB-CRC CRC LSB-CRC Ox5D MSB-CRC 0xB2
0x05,0xFF,0x01,0x00,0x5D,0x B2 6
CRC Ox00  0x00 C
CRC

Polynomial: POLYNOMIAL=0x8408;
Start Value:  PRESET_VALUE=0xffff;

C-Example:
int i
unsigned int current_crc_value=PRESET_VALUE;

for(i=0;i<len;i++) /*len=number of protocol bytes without CRC*/
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{
current_crc_value=current_crc_value™((unsigned int)pData[i]);
for(j=0;j<8;j++)
{
if(current_crc_value& 0x0001)
{
current_crc_value=(current_crc_value>>1)"POLYNOMIAL;
}
else
{
current_crc_value=(current_crc_value>>1);
}
}
}
pDatd[i++]=(unsigned char)(current_crc_value& 0x00ff);
pDatd[i]=(unsigned char)((current_crc_value>>8)& 0x00ff);
4, (Status)
4 4 4
4 ISO/IEC 15693 4 0
I|SO/IEC15693
Status
Len Com_adr | Status | Datd[] CRC-16
4+Datd[]
OxXX 0x00 LSM+MSB
4 OxXX 0x01 LSM+MSB
4 OxXX 0x02 LSM+MSB
ISO/IEC
4 OxXX 0x05 LSM+MSB 15693
4 OXXX | Ox0A LSM+MSB | Inventory-Scan- | '"Ventory
Time .
Inventory-Scan-Time
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Inventory-Scan
uiD
4 OxXX 0x0B LSM+MSB .
Inventory- | Inventory-Scan-Time
Scan-Time
uiD
4 OxXX 0x0C LSM+MSB SO error ISO/IEC
15693
4 OxXX OxOE LSM+MSB
Status  “ Ox00" Len Data([]
Status
.
RR9001Lite 4
RR9001Lite
5.1. ISO/IEC 15693
ISO/IEC 15693 State 4
13 011
I SO/IEC 15693
“ Open RF”
5.1.1. —Inventory
uiD
Inventory uiD
(Inventory-Scan-Time)  3s
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State | Data[]
Inventory-scan 0x06 “ Close
RF” “ Open RF’
uID
0x02
uID
uID
Len | Com_ adr Cmd State Datal] CRC-16
0x05 OxXX 0x01 0x06( ) — LSB | MSB
0x05 OXXX 0x01 0x02( ) — LSB | MSB
Len | Com_adr Status Datal] CRC-16
0x0d OXXX 0x00 DSFID,UID-1 LSB | MSB
0x0d OXXX 0x00 DSFID,UID-2 LSB | MSB
0x0d OXXX 0x00 LSB | MSB
0x04 OXX X 0x0e — LSB | MSB
0x05,0xXX,0x01,0x06,
CRC-16
Wait
_:1- ------------------ Inventory == Wait
0x0d, 0xXX,0x00, 0x0d, 0xXX,0x00,
O ™ PR
uiD
0x04,0xX X,0x0E,CRC-16
uiD 0x04,0xX X,0x0A,CRC-16
uiD 0x04,0xX X,0x0B,CRC-16
5.2.
RR9001L ite 3
State 4 “« P
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5.2.1. —Get Reader Information
Com _adr Version
InventoryScanTime
0x46 “ RRO001Lite” InventoryScanTime
Ox1e 3s 0x00,0x08
bit 15 14 13 12 11 10 9 8
Function — — — — — — — —
bit 7 6 5 4 3 2 1 0
Function — — — — ISO/IEC — — —
15693
Len |Com adr| Cmd State Datal] CRC-16
0x05 OXX X 0x00 0xfO — LSB | MSB
Len | Com adr | Status Datal] CRC-16
0x0c OxXX 0x00 Version(2bytes) ,RFU(2bytes) LSB | MSB
_Reader_type, Tr_type(2bytes),
_InventoryScanTime
0x0c,0xXX,0x00,Version(2bytes),
RFU(2bytes), Reader_type, 0x05, 0xXX,
_Tr_type(2bytes), 0x00,0xf0
_InventoryScanTime, CRC-16 XCR&-)1(6 ’

P N

-w

------{Get Reader Information %---------n{ Wait

52.2. —Close RF
ISO/IEC 15693
Len Com_adr Cmd State Datal] CRC-16
0x05 OXXX 0x01 0xfO — LSB | MSB
Len Com adr | Status Datal] CRC-16
0x04 OXXX 0x00 — LSB | MSB
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0x04 , 0xXX, 0x00, CRC-16 0x05, OxXX,
0x01,0xf0,
CRC-16
Wait (rococces Close RF feccccccccecs Wait
5.2.3. —Open RF
ISO/IEC 15693
Len Com_adr Cmd State Datal] CRC-16
0x05 OXXX 0x02 0xfO — LSB | MSB
Len Com adr | Status Datal] CRC-16
0x04 OXXX 0x00 — LSB | MSB
0x04,0xXX, 0x00, CRC-16 0X05,0xXX,
0x02,0xf0,
CRC-16
Wait ‘......c» Open RF ‘..........c» Wait




